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function 5
450 — 10
z(p) = £ o<psas,
Pp+5 (a) \AHN.TCFH&&
(a) Determine zeros and extreme points of z(p). Check the ;
function for monotonicity and for concavity or convexity. (b) \ z
(b) Find the elasticity of demand function z(p) and intervals g VI 4
for p where z(p) is elastic or inelastic. o0

. Find respectively evaluate the following integrals:

dz

(c) Find the inverse demand function, i.e. the price p as a func- (c) | eVZdz
tion of demand z. For which z - interval does the relation
hold?

3. The profit Q for a.certain agricultural product is a function of
the quantity of the used sorts of chemical fertilizers r1, T2, T3.

Let
1,12 o 1,
Q(ry,ra,m3) = lMJ+MJIJlMJ+NJJ+JJ+NJ+3+ﬂu+woo
be the profit function with the domain
120 1=1,2,3.

Determine the quantities of the 3 used sorts of chemical fertili-
zers such that the profit becomes maximal. Verify the sufficient
conditions, too.

4. Find the minimum of the function
flz,y,2) =2z 4+ 2y — 22

subject to
z? + 2y + 32% = 66.
Check the sufficient conditions, too.



